
volgorde bewerkingen

1) 5 + 3 x 7 = 2) 75 : 3 + 2 =

3) 40 - 21 : 7 = 4) 75 : (3 + 2) =

5) 60 - 7 x 8 = 6) 15 - 7 - 5 =

7) 25 + 102 x 2 = 8) (52 + 102) x 2 =

9) 5 + 3 x
√

49 = 10) 5 + 8 - 50 : 10 =

11) 75 : 3 - 3 = 12) 12 - 8 :
√

4 =

13) 10 : 2 + 24 : 6 = 14) 14 : 2 + 56 : 7 =

15) 20 + 56 : 7 = 16) (15 - 7) x 2 =

17) 2 : 5 + 8 - 9 = 18) 3 - 4 - 3 x 4 + 12 =

19) 4 - 7 + 1 : 2 = 20) 22 - 8 : 2 =

21) 40 : 8 x 5 - 6 = 22) 2 x 3 + 2 : 3 - 6 =

23) -
√

25 - 4 + 5 + 8 = 24) (33 - 3) x 2 =

25) 1200 + 3 x 7 = 26) 33 - 3 x 11 =

27) 81 - 9 x 9 + 72 = 28) 35 + 35 : 7 - 30 =

29)
√

10000 - 9 x 11 - 12 : 4 = 30) 22 - 45 : 9 x 5 =

31) 100 - 5 x 10 + 10 : 3 = 32) 100 - 5 x 10 + 52 : 3 =

    Op de pagina: https://foutlooslerenrekeneningroep7en8.nl/8-volgorde-bewerkingen/
kun je de video bekijken over de bewerkingsvolgorde (les 8 van dezelfde site).
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